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Needs ["SpinDynamica™ "]

SpinDynamica version 3.0.1 loaded

ModifyBuiltin: The following built-in routines have been modified in SpinDynamica:
{Chop, Dot, Duration, Exp, Expand, ExpandAll, NumericQ, Plus, Power, Simplify, Times, WignerD}.

Evaluate ??symbol to generate the additional definitions for symbol.

SetSpinSystem[3]
1 1 1

SetSpinS : the spi has b 1, =442 —1 {3, —
etSpinSystem: the spin system has been setto{{ 2}{ 2}{ 2}}

SetBasis: the state basis has been set to ZeemanBasis[{{1, 1—} {2, 1—} {3, l}} BasisLabels —» Automatic],
2 2 2

ExpressOperator[opI[1, "x"].opI[2, "+"].0pI[3, "2"],
CartesianProductOperatorBasis[]
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ExpressOperator[opI[1, "x"].opI[2, "+"].0pI[3, "2"],
ShiftAndPolarizationOperatorBasis|[]
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ExpressOperator[opI[1, "x"].0opI[2, "+"].0pI[3, "2"],
ShiftAndzZOperatorBasis[]
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ExpressOperator [
ProjectionOperator [Ket["aBa"]],
CartesianProductOperatorBasis|[]
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ExpressOperator [
ShiftOperator [Ket["aBa"], Bra["aaB"]],
CartesianProductOperatorBasis[]

(IZy'I3y> +

N[

1 1
(IoxeIzy) + g i (I2x'13y) - gjl (IZy'I3x) +

N |

IyzeloneIsx +1 (Ig Z'I2x'13y) -1 (Ilz'IZy'IBX

—

+I3,°T5y°I5y



2 | ExpressOperator.nb

ne= ExpressOperator [
ShiftOperator [Ket["aBa"], Bra["aaB"]],
SphericalTensorOperatorBasis[]
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1 - + + - 1 - + + -
outge — (I3013 - I5eI3) + — (I5eI5 + I50I3 -4 (I,,013,)) +

4 12

1 - + + - 1 - + + - - + + -

g (12-:[3 + 15015 +2 (I5,013,) ) + Z (I70T5,0T3 —I7eTp 005 + Ig,0T5013 - I5,015013) +
1 - + - + + - + = = + + -

. (I70T50T3, - I7Tp 005 — TieT50T5, + Iiely 015 + Iq0T50T% — Ig,01513) +

1 - + - + + - + - - + + -
o (-2 (I3°T50T3,) - T3oTp,°T5+2 (I3215015,) + IjeTo,0T5 + Iy,eT50I5 - Iy, 0I5015) +
1 - + + - - + + -

. (= (I79T5,013) —IjeTp,0I5 + Iy T30 + Ig,0T5015) +

1 - + - + + - + - - + + -

o (I70T50T3, + I7oT5 004 + Ijel5el5, + I 0Dy 005 + Ig,0T50T% + g 015015 -4 (I1,015,°I3,)) +
1 - + - + + -

. (-2 (I7°I3°I3;) + 3 (I3°I2,°13) - 2 (Ij°I5013,) +

3 (I3+Ip,°15) + 3 (I12°15°13) +3 (I1,°15°13) +8 (I1,°I5,°13,) )



